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Vi(t) = Vo cos(2mvpt + ¢), (2)

Va(t) = Vo cos(2mvp(t — 74) + @), (3)
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Cia(1) = Tlim LT 3 Vi) V5 (t — 7)dt. (7
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X(v) = /m(t) e 2Tt dt, 9)

z(t) = /X(l/) Xt dy, (10)
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o(v) = /ez’ri”tdt, (12)
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S(v) = F,e*™"s (13)

OoooooooooboooboDOF 0000000000 O0DODODOO0O0O00
00000000 (13) 0000000000 0o0oU 0000 vOODOO
O00¢=2mvr, 0000000



6.4 U000

ooo0oooooon (49ooooobooo r, 00000000000
O0oo0oooOo00ooo0o0ooooooooboooovEBIOODODOOO
gdoooo 0000000000000l weUd

2w

- _ -5 1
= 36400 sec 7.27 x 107° radian/sec (14)

We

00000000000 VERADODOOD |B=2300km000000
000000 BO .

B =~ |Blwg = 167 m/sec (15)
000000000000000000000100m0000000000

B-3
¢ =2mvTy, = QWTS (16)

vbobogboooboobboobboobbobboboaob

b B.7
Y _ 17
27 A (17)
00000 VERAD 22GHzOOOOOOO A=13cm 00
é |§|w@ 4
—0 = =12x10"H 1
o 5 x 10 Hz (18)

gboooboooobooooooboooooobobooooooboo 1o
ooooooooooobood , 0000000000 10 20000000
gbooboobooooboobooooooboboobooobobooobooDbt
ooboooboooooboooboboobooooooooboooobooboobboOomo
oooooooooooooooooooooooooooooon 00
uoooboboto —-nppobO0b0OO00O00ObOO0bO0bob0OoOoobOoona
oboooboboobooboobobooooobooboobooooooooobooon
booobdbrnbO0b000obOobobooobooboboooboooban
00000000 vVihAOOQOOoOOoooooooooooooooooo
gobooboooooooboobboooboobboobobooobooooDooo
oooooboooooooboboooooDo

S(l/) — FV€27riu(‘rgfrg) (19)
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B = (U,V,W) (20)
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I(z,y) = // S, (u, v)e”2 =Y dydy (28)
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(tr—=v, (u,v) = (z,9))



